Science and Environment
Balancing chemical equations

Balance the following equations using whole numbers as coefficients.
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Mg +2HCI — MgCl + Ha

2, (B0 + Gh - FHCI480,)a2 = by ZCIL, > HHCIE O,
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ZFCQ_O:-; o+ ‘CO —= 6C02 #FE

Hy0; — H;0 +50; = 24,0, > 28,0+ 0,

H,SO; + 2NaOH —  Na;SO; + 2H,0

3Ca0 +2Al

b AIQ 03 %+ 3(:3

2KI + Pb(NO;); — ZKNO; + Pbl,

Ba(OH), +2HBr — BaBr, +2 H,0

CaCQOs +2HC1 - (C0O, + CaCl, + H,O

. YHCl + 0, — 2ClL +2H,0

YNH; +70,

CaCl, + NayCO; — CaCO; + £NaCl

CsHiOs + 60, — 6C02 +(pH20

s qNOg +$ H_‘)_O



Balancing chemical equations
Balance the following equations using whole numbers as coefficients.
) K + N, — 2K:N
2) 2KCIO; — 2KCl +30,
3) 2KNO; — 2 KNO,+ O,
4) 2Fe +3H,80; — Fex(S0s); + 3 Hy
5) ZAl + Fe,0; — AlLO; +2Fe
6) Cu + ZAgNO; — Cu(NO3), +2Ag
7)  CaCl, + ZNaOH —> Ca(OH); + 2NaCl
8) 2AgNO; + ZnCl, — Zn(NOs3), +2 AgCl
9) YNH; + §O, — YNO +b&H,0
10) CoHsOH +30, — 2CO; +3H,0
1)3CO +1H, - C3Hg +3H0
12) 2CHs + 2NH; + 30, — 2HCN + &H,0
13) Y C:H:N;0s — 12C0O, + O, + 6N, +16 H,0

14) Ca3(PO4)2 =+ 38102 = SC = 3 CaS103 + SCO + 2~P



